THMIFERBMBETRERTATAELE (hHETF B )

(BfL:FF. %)

= SHSFE SH2FE 1&iE % PR ES
= iR EZ FATRIHERE FATRIHERE A—B C/B*100
A B C D
1|sLv=FHh 26,093,536 8,315,694 17,777,842 213.8
2|)11#% 5,086,930 2,103,284 2,983,646 141.9
3|REATH 4,396,553 1,797,206 2,599,347 144.6
ANEGS 7,450,629 3,911,676 3,538,953 90.5
5|4THT 1,378,703 896,123 482,580 53.9
6|FRh 1,086,614 729,711 356,903 48.9
1|FriR™ 4254630 1,629,553 2,625,077 161.1
8|BRBET 1,623,937 1,142,711 481,226 421
9lhnzEth 2,044,107 1,444,766 599,341 415
10| REH 1,443,563 985,172 458,391 46.5
11N ILT 1,741,393 1,070,147 671,246 62.7
12|ZB&H 4387111 2,859,526 1,527,585 53.4
13]3E L 2,613,654 1,434,407 1,179,247 82.2
14 R &ETh 963,319 665,003 298,316 44.9
IHECENH 1,982,494 1,281,488 701,006 54.7
16EAT™H 2,730,780 1,565,287 1,165,493 74.5
17| LB 3,486,567 1,904,352 1,582,215 83.1
18| & nth 4214255 2,158,399 2,055,856 95.2
19|# B H 6,200,995 3,476,788 2,724 207 78.4
20| B&Th 1,277,465 803,983 473,482 58.9
21|FHM 0 0 0 —
22| AT 2,360,753 1,285,190 1,075,563 83.7
23|8AET 1,135,173 155,480 979,693 630.1
24|FE K 1,385,551 821,267 564,284 68.7
25|F03cth 3,806 0 3,806 i
26| #FEETH 2443274 1,353,977 1,089,297 80.5
27|14l 1,440,666 955,223 485,443 50.8
28| AZETH 2,853,420 1,861,355 992,065 53.3
29|t KT 1,279,373 902,560 376,813 41.7
30|/\igith 541,653 0 541,653 i
N|EXR™ 1,951,816 1,145,770 806,046 70.3
32| =$ivh 1,955,059 1,027,126 927,933 90.3
33EMET™H 1,168,701 776,361 392,340 50.5
34|/ ETH 1,723,534 1,185,790 537,744 45.3
35|=Fh 866,584 584,661 281,923 48.2
36|y ETH 1,229,353 809,661 419,692 51.8
RMEEDE 1,070,640 659,899 410,741 62.2
38| )IIth 1,300,124 759,364 540,760 71.2
39| S\LAEFTH 2,038,233 1,208,634 829,599 68.6
40| (B[ H 1,008,973 613,416 395,557 64.5
il Hi 112,213,921 56,281,010 55,932,911 99.4




THMIFERBMBETRERTATAELE (hHETF B )

(BfL:FF. %)

= SHSFE SH2FE 1&iE % PR ES

= HETH 4 FATRIHERE TR BEEE A—B C/B*100
A B C D
A |{REHT 819,066 519,693 299,373 57.6

42| = 1T 21,792 0 21,792 ]

43| E = 1LHET 511,945 367,579 144,366 39.3
A48 A T 203,655 151,240 52,415 34.7
45|78 )11 BT 554,449 297,125 257,324 86.6
46 | j= LI BT 440,503 284,053 156,450 55.1
47(/N 1 BT 538,087 394,035 144,052 36.6
48|)1| EHT 468,694 317,184 151,510 47.8
49| = RHET 445,328 293,374 151,954 51.8
50| f8 LLI BT 281,957 205,257 76,700 374
51|EEAHHET 209,889 154,492 55,397 35.9
52|+ AET 159,907 115,083 44,824 38.9
53| &5 BT 152,567 115,497 37,070 32.1
54| K #RHET 120,986 89,063 31,923 35.8
55|/\EE BrHT 194,842 150,816 44,026 29.2
56| AR #E 54,481 40,974 13,507 33.0
IEES) 283,292 196,093 87,199 44.5
58| ## )1 ET 266,008 188,480 77,528 41.1
59| E E T 593,830 373,451 220,379 59.0
60|25 =T 704,443 512,944 191,499 37.3
61| = {LHT 521,100 377,357 143,743 38.1
62| FH] 710,366 524,307 186,059 35.5
|63 [#ARET 426,395 305,592 120,803 39.5
BT #1 & 8,683,582 5,973,689 2,709,893 45.4
2 it 120,897,503 62,254,699 58,642,804 94.2




